To gk fo o~ 1t fm

Z
Z|11EJ sz M
= EE:‘.Wl:__,r.__ s L X

P — Roblem : 2T = 1 %V (%)
n :
— :
, = fack~ 1000 vas»nw;ffz :
e only et o Vo = 'Ef = Z,Z, pm
"T—.bmhd/hﬂ qudz zpnsms
uals bt : oML M_ =
Qfm«f}*‘iﬂﬁ"‘j’w i~ \\J"
(hncortoinly francipde =
Low Caming
m ik precuely )
H =




“Too M ? : syt
| Rocckion prob. megded dn q&"”,_q?wﬁée&_

__:;_H-mev_«ai _F:;:Dllt:-'.;_,’-}-.ﬂl s T=(k? No!

Bub: do hawe sher Qusion of Lower Komptrodues |

B sl BTl 2 fHe of ~iofk

e T T T ol
e — S - ~ =10 =
B




Slle +3He o Fte +2:"l H il
Sl v 1o o Tﬁe_t _}"_




_[E_ﬂ +JIH‘:,';;“+;H€ 4 ﬂtﬁuaﬁwm&n’

el o CRIO el
! I

 Slowtrh skp? Highark el -

— b ’F . .MCNW.'E__

WW'}( sy

o wccews = 'IN

chorge
=) et o C L, 0 humatd smto SN



